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CHAPTER OBJECTIVES
This chapter discusses the financial linkages between the domestic and world economies and how these linkages affect business viability. Chapter 3 is macro-oriented because it describes the balance of payments on a country-by-country basis. This macro discussion is useful information for a multinational company because the ability of the multinational company to move money across national boundaries can be affected by changes in a country's current account and capital account positions. Many factors determine a firm's ability to move funds from one country to another. In particular, a country's balance of payments affects the value of its currency, its ability to obtain currencies of other countries, and its policy toward foreign investment.  

Key Terms and Concepts

Balance of payments for a country is commonly defined as a record of transactions between its residents and foreign residents over a specified period.

Current transfers consist of all transfers that are not transfers of capital; they directly affect the level of disposable income and should influence the current consumption of goods and services.
Current account includes merchandise exports and imports, earnings and expenditures for invisible trade items (services), and current transfer items.

Capital account consists of capital transfers and the acquisition or disposal of nonproduced, nonfinancial assets.
Financial account consists of foreign direct investments, foreign portfolio investments, and other investments.
Foreign direct investments (FDI) are equity investments such as purchases of stocks, the acquisition of entire firms, or the establishment of new subsidiaries.
Foreign portfolio investments are purchases of foreign bonds or other financial assets without a significant degree of management control.

Special drawings rights (SDRs) called sometimes "paper-gold", are rights to draw on the international monetary fund (IMF).

Balance-of-payments identity states that the combined balance of current account (CuA), capital account (CaA), financial account (FiA), net errors and omissions (NEO), and reserves and related items (RR) must be zero.

International investment position is a stock concept which summarizes a country's assets and liabilities on a given date.

J curve is the term most commonly used by economists to describe the relationship between the trade balance and currency devaluation. The J-curve effect holds that a country's currency depreciation causes its trade balance to deteriorate for a short time, followed by a flatting out period, and then a significant improvement occurs for an extended period. 

ANSWERS TO END-OF-CHAPTER QUESTIONS
1.
What are the four major components of the current account?

The current account consists of merchandise trade, service trade, income on investments, and current transfers. The current account is the most popular definition for the balance of payments. 

2.
Briefly describe the financial account.

The capital account is composed of foreign direct investments, foreign portfolio  investments, and other investments such as loans. Unlike current account entries, entries in the capital account indicate changes in future claims.

3.
If a country has a deficit on its current account, what are the consequences for the country's balance of payments on financial account? Assume that the country practices a flexible exchange-rate system.

Under the flexible exchange-rate system, the country's balance of payments is supposed to be zero. If a country has a deficit on its current account, the country is supposed to have a surplus of a similar size in its financial account, unless the country has a huge amount of official reserve assets. 

4.
What is the role of the net errors and omissions in the balance of payments? What are the major causes for the net errors and omissions?

The balance of payments should always balance in theory, but it rarely does in practice for several reasons. The net errors and omissions is used as a "plug" item to keep the balance-of-payment accounts in balance. The discrepancy occurs because of: (1) unreported foreign funds coming to the country, (2) increased foreign-currency trading along with the flexible exchange-rate system, and (3) sloppy paperwork.

5.
Most developing countries (excluding oil-exporting countries) have incurred huge balance-of-payments deficits for many years. What alternatives are available to these countries for dealing with their balance-of-payments problems?

The alternatives to deal with the balance-of-payments problems include: (1) deflate the economy through tight monetary and fiscal policies, (2) continue foreign borrowing and continue to attract foreign investment, (3) institute strict exchange controls, and (4) float the currency. 

6.
The US current-account deficit rose sharply since 1997. Discuss some reasons for such a dramatic increase in the US current-account deficit. 

Three factors had been singled out as leading causes of a huge increase in the US  deficit of the current account since 1997: the strong US dollar, reduced US exports to those Asian countries hit hard by the Asian crisis of 1997 and 1998, and faster economic growth in the United States than in its major trading partners. 

7.
What is the major difference between the balance of payments and the international investment position? When did the United States become a net debtor nation for the first time since World War I? Explain why the United States became a net debtor nation. 

The balance of payments is a flow concept because it covers a period of several months or a year, while the international investment position is a stock concept because it represents a country's financial condition on a given date. The United States became a net debtor nation in 1987. Huge trade and budget deficits, caused by major shifts in macroeconomic policy in the first half of the 1980s, turned the United States from creditor to debtor. 

8.
What is the balance-of-payments identity?

The balance-of-payments identity is the fact that the combined balance of current account, capital account, financial account, net errors and omissions, and reserves and related items must be zero. In other words, current-account deficits or surpluses are offset by corresponding net foreign-investment surpluses or deficits. An important fact of accounting states that for an economy as a whole, these two imbalances must offset each other. Under this assumption, the current account is equal in size, but opposite in sign, to net foreign investment (capital account , financial account, net errors and omissions, and reserves and related items). Thus, the balance-of-payments identity--the combined balance is zero--must necessarily hold.

9. 
What is adversarial trade? Why do both sides (the buyer and the seller) lose in adversarial trade?

Adversarial trade is the practice of unreciprocal trade; some countries such as Japan love to sell products to foreign countries but they do not want to buy products from foreign countries. The importing country (the buyer) would lose almost immediately because it would spend more than it would earn. The seller will also lose in the long run because: (1) the successful seller eventually destroys the buyer's industry and purchasing power, and (2) sellers may be unable to prevent a buyer's retaliatory actions because they do not buy the buyer's products. 

10.
Explain why a currency depreciation will not necessarily improve the balance of trade.

Currency devaluation might not correct a trade deficit: (1) if foreign markets would not buy more goods in response to lower prices; (2) if domestic companies did not have the capacity to produce more goods for exports, (3) if domestic residents continued to import foreign goods regardless of their higher prices, and (4) if middlemen did not pass on changes in prices to their customers.

11.
What is the J curve? 

One possible reason why a weak currency will not always reduce the trade deficit has to do with the J-curve effect. The J curve is the term most commonly used by economists to describe the relationship between the trade balance and currency devaluation. It holds that in a short run, a country's trade deficit may deteriorate just after its currency depreciation because the higher cost of imports will more than offset the reduced volume of imports. 

ANSWERS TO END-OF-CHAPTER PROBLEMS
1a.

_______________________________________________________

Example

Debits (Outflows)

Credits (Inflows)
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$30,000

3-2


$ 5,000

3-3


 20,000

3-4


   5,000

3-5


 10,000
Reserve balance





  10,000
Total

           $40,000



$40,000  

1b.
The amount of debit transactions ($40,000) exceeds the amount of credit transaction ($30,000) by $10,000. Thus, the country has an overall balance-of-payments deficit of $10,000.

1c.
The country must undertake $10,000 worth of compensating transactions to make up the difference in its balance of payments. To account for this deficit, it should reduce its official reserve assets and/or increase its foreign official assets (official liabilities).

2a.
The country has a balance-of-payment surplus of $2,000. 

2b.
The country's official reserve account should improve because its official reserve assets would increase and/or its official liabilities would decrease. 

3.
Current account = merchandise  + services + income + current transfers.

-$4,000 = $5,000 + services + $0 + $10,000

Thus, service trade balance = -$11,000.

4.
Use Equation (3-1) to answer this question: 

current account + capital account + financial account  + net errors and omissions + reserve  account = 0

$10,000 + $0 - $15,000 + $0 + reserve account   = 0

                                                               reserve account  = $5,000

Thus, the country's balance of its reserve account (reserves and related items) is $5,000. Recall that the plus sign in the official reserve accounts indicates the combination of a decrease in reserve assets and an increase in official liability. In other words, to account for this deficit of $5,000, the country's reserves would decrease by $5,000,  its official liability will increase by $5,000, or a combination of both a decrease in reserves and an increase in official liability.   

ANSWERS TO END-OF-CASE QUESTIONS
1. 
What are some of the sources of trade friction between China and the United States?  Why do some scholars view this friction as a positive sign?

There are many different sources of friction between China and the United States.  On a broad level, sharp cultural and political differences are a major cause of trade friction between the two countries. On a specific level, China is following the same global strategy that many developing countries in Asia have followed – they are protecting their market and leveraging their competitive advantage from cheap labor. This strategy has lead to large trade deficits and these deficits are causing friction. Some view this friction as a positive sign because it represents a major improvement over the closed-door relationship before 1978.

2.  
What is managed trade and how does it apply to China and the United States?
Managed trade is government-sponsored trade designed to eliminate the trade imbalance between countries. The main goal of trade policy with China in the past has been to open their market to foreign investors and products. With the great progress made on these goals in the late 1990s, the current managed trade steps for the United States are to continue opening the Chinese market while keeping the trade imbalance manageable.

3.  
Discuss what steps the United States can take to reduce its trade deficit with China. Mention the deflation of economies, devaluation of currency, and establishment of public control.

The United States might take steps to tighten its monetary and fiscal policies. The resulting decrease in inflation and income should increase US exports thereby lowering the trade deficit. Or the US could devalue the dollar against the Chinese currency. This would increase the price of imports and decrease the price of exports, reducing the trade imbalance. Lastly, the US could establish public control through tariffs, quotas and subsidies.

4.  
Suppose that the value of the US dollar sharply depreciates. Under these conditions, how would the J curve discussed in this chapter apply to the trade relationship between China and the United States?

The J curve is the term most commonly used by economists to describe the  relationship between the trade balance and currency devaluation. It holds that in the short run, a country's trade deficit may deteriorate just after its currency depreciation because the higher cost of imports will more than offset the reduced volume of imports. In the above example, the US trade balance with China would initially deteriorate, then level off, and finally improve.

5.  
Discuss in broad terms the major changes since WWII in the trade relations between China and the United States in terms of actual balance of payments and foreign direct investment.  

Immediately after WWII, all trade and foreign direct investment between the two countries stopped and there was no balance of payments at all. This situation has changed as the Chinese market has slowly opened since 1978. The current situation finds the United States with a large trade deficit with China and with large sums being invested in China. This results in a large actual balance of payments deficit.
6.
The website of the US Central Intelligence Agency www.cia.gov and the website of the US Census Bureau www.census.gov both contain economic data and statistics on trade. Use specific numbers from these two sites to support some of your claims in the answer to question 5.

22

